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1. Section 126A of the Representation of the People
Act, 1951 is often seen in the news during the
elections with reference to

(a) conduct of exit poll and dissemination of their
results.

(b) seeking votes on grounds of religion.

(c) indulging in paid news.

(d) promote enmity or hatred between different
classes of citizens.

2. Consider the following statements :

1. All the ministers are entitled to vote in

the Parliament whether they are members or not.
2. The President can exercise executive power
without the aid and advise of the council of ministers,
after the dissolution of the Lok Sabha.

Which of the statements given above is/are not
correct?

(@) 1 only

(b) 2 only

(c) Both1and 2

(d) Neither 1 nor 2

3. Consider the following statements regarding the
election of the Vice President:

1. Nominated members of both the houses of the
Parliament do not take part in the election.

2. Members of the state legislatures have no role in
the vice presidential election.

Which of the statements given above is/are correct?
(@) 1 only

(b) 2 only

(c) Both1and 2

(d) Neither 1 nor 2

4. In the context of the evolution of urban local
bodies in India, arrange the following in correct
chronological order.

1. Lord Mayo’s Resolution on financial
decentralization

2. Royal Commission on decentralization was
appointed.

3. First municipal corporation in India was set up at
Madras

4. Local self-government was declared a provincial
subject.

Select the correct answer using the code given
below.

5. 73rd Constitutional Amendment Act of 1992
providesa mandatory reservation to which of the
following?

1. Scheduled Castes

2. Scheduled Tribes

3. Women

4. Other Backward Classes

Select the correct answer using the code given
above.

(@) 1and 2 only

(b) 1, 2 and 3 only

(c) 3and 4 only

(d)1,2,3and 4

6. Which of the following takes decision regarding
reservation of constituencies for Scheduled Castes or
Scheduled Tribes in a particular state?

(a) Delimitation Commission.

(b) Election Commission of India.

(c) Union government.

(d) State government.
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7. Local self government can be explained as an
exercise in —

a. federation

b. democratic decentralization

c. administrative delegation

d. direct democracy

8. The Speaker Pro Tem of the Lok Sabha is:
(a) Elected by the members of the Lok Sabha.
(b) Nominated by the outgoing Speaker.

(c) Nominated by the Party in the majority.
(d) Appointed by the President.

9. If a person fails to intimate his choice of the house
within 10 days of being elected to both the houses of
the Parliament, which of the following would
happen?

(a) His election to both the houses will be declared
void.

(b) His seat in the Rajya Sabha will become vacant.
(c) His seat in the Lok Sabha will become vacant.

(d) He will be disqualified under the

10th Schedule of the Constitution.

10. Parliamentary tools Kangaroo and Guillotine are
associated with which of the following motions?

(@) Privilege Motion

(b) Calling Attention Motion

(c) Adjournment Motion

(d) Closure Motion

11. Why is there a complete change in the‘direction
of ocean currents between summer and winter in the
Indian Ocean?

(a) Coriolis force is stronger in IndianOcean.

(b) There is a complete reversal inwind

direction.

(c) Indian Ocean is landlocked and smaller

than other oceans.

(d) The salinity variation is greater.

12. With reference to 'break’ in the monsoon,
consider the following statements:

1. It refers.to the most deficient monsoon year in a
decade.

2. It occurs due to lack of rain-bearing storms along
the ITCZ over northern India.

Which of the statements given above is/are not
correct?

(@) 1 only

(b) 2 only

(c) Both1and 2

(d) Neither 1 nor 2
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13. Consider the following mountain ranges:

1. Zaskar range

2. Ladakh range

3. Pir Panjal range

4. Karakoram range

Arrange the above ranges from North to South.
(@) 1-2-3-4

(b) 1-3-2-4

(c) 4-2-3-1

(d) 4-2-1-3

14. The Big Splat event is associated with the
formation of:

(@) Moon

(b) Sun

(c) Planets

(d) Earth's atmosphere

15. Consider the following pairs:

Ocean Current Adjacent Coast
1. Agulhas : Eastern coast of Africa
Current

2. Irminger Current : Coast of Alaska

3. Humboldt : Western coast of
Current South America

Which of the pairs given above are correctly
matched?

(@ 1and 2 only

(b) 2 and 3 only

(c) 1and 3 only

(d1,2and 3

16. Consider the following countries sharing a
land boundary with India:

1. Bangladesh

2. China

3. Pakistan

Arrange the above in the decreasing order of land
boundary with India?

(a) Bangladesh>China>Pakistan

(b) Bangladesh>Pakistan>China

(c) China>Bangladesh>Pakistan

(d) Pakistan>China>Bangladesh

17. Which of the following can reduce the incidence
of landslides?

1. Large scale afforestation

2. Construction of Terraces and bunds

3. Jhum cultivation

Select the correct answer using the code given
below.

(@) 1 only

(b) T'and 2 only

(c)2and 3 only

(d1,2and 3

18. Consider the following countries:
1. Lebanon

2. Morocco

3. Croatia

4. Jordan

5. Tunisia

Which of the countries given above share border
with the Mediterranean sea?

(@) 1, 2and 3 only

(b) 2, 3, 4 and 5 only

(c) 1,4 and 5 only

(d)1,2,3and5
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19. The terms Roaring Forties, Furious Fifties and
Shrieking Sixties are used in relation to

(a) ocean currents

(b) jet streams

(c) easterly winds

(d) westerly winds

20 These are the most widespread forests in India.
They spread over regions which receive rainfall
between 70-200 cm. On the basis of the availability of
water, these forests are further divided into moist and
dry. Teak, sal, shisham, Tendu, palas, and
sandalwood are the main species of these forests.
The above passage describes which of the following?
(a) Semi Evergreen Forests

(b) Tropical Deciduous Forest

(c) Thorn Forest

(d) Montane Forest

21. The Tropic of Cancer divides the country into
almost two equal halves. It passes through which of
the following states?

1. Gujarat

2. Rajasthan

3. Tripura

4. Meghalaya

Select the correct answer using the code given below.
(@) 1and 2 only

(b) 1, 2 and 3 only

(c) 3and 4 only

(d1,2,3and 4

22. Local storms of a hot weather season in India
assist in the growth of which of the following crops?
1. Mangoes

2. Coffee

3. Tea

4. Jute

5. Mustard

Select the correct answer using the code given
below.

(@) 1,2 and 3 only

(b) 4 and 5 only

(©)1,2,3and 4 only

(1,23 4and5

23. Consider the following statements:

1. Among all the-continents of the world, Africa has
the maximum number of countries through which
equator passes.

2. Africais the only continent in the world through
which.a river passes through the Tropic of Capricorn
twice.

Which of the statements given above is/are correct?
(@) 1 only

(b) 2 only

(c) Both1and 2

(d) Neither 1 nor 2

24. Consider the following pairs:

Name of Strait Between countries

1. Hormuz : Iran and the United
Arab Emirates

2. Bab-el Mandeb  : Syria and Turkey
3. Bosphorous : Saudi Arabia and
Sudan
4. Magellan : Colombia and
Argentina

Which of the pairs given above is/are correctly
matched?

(@) 1 only

(b) 1 and 4 only

(c) 1and 2 only

(d) 3and 4 only
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25. The air is said to be completely saturated when
(a) absolute humidity is 100gm/m3.

(b) relative humidity is 100%.

(c) vapours condense into clouds.

(d) it begins to rain.

26. This National Park is located along the Western
Ghats in the Idukki district of Kerala in India. It is
designated as UNESCO World Heritage Site.
Anaimudi, the highest peak in south India is inside
this park.

The above passage describes which of the following
national parks?

(a) Periyar National Park

(b) Pampadum Shola National Park

(c) Eravikulam National Park

(d) Nagarhole National Park

27. River Ganges passes through which of the
following states?

1. Uttar Pradesh

2. Madhya Pradesh

3. Jharkhand

4. West Bengal

Select the correct answer using the code given below.
(@) 1and 4 only

(b) 1, 3 and 4 only

(c) 1, 2and 3 only

(d) 2, 3and 4 only

28. The Girmit Act enacted during colonial period
was related to

(a) contracts of indentured labourers

(b) measures to limit the growth of population

(c) exports of cotton

(d) administration of tribal lands

29. Karaganda basin, Damodar valley and-Shanxi
valley are famous for which of the following mineral
deposits?

(a) Coal

(b) Petroleum

(c) Gold

(d) Bauxite

30. Whichof the following most appropriately
defines the concept of 'Human Development'?
(a) Elimination of poverty in a country.

(b) Economic growth witnessed in a country.
(c) Enlargement of people's choices.

(d) Availability of multiple facilities.

11




25. §aT 9 o & HJol b el SiTd g-
(a) FRU& 3TT6AT 100 AT/ M2 Bl

(b) TTIET 37T 100% & |

(c) A>T STeet F Fufad gl &1

(d) St gEf Blel ofarch B

26. TG TSEIA AT TR H FeA & 35! forel ¥ GfRerad
TE o A1y T8 &1 8 Feieah! a7 faed eRIeT T4l & &9
& AT TR 3127 & | STEI0T Rl hT H Srely WY Jrersagsy
S8 U & 3T ¢

39 ALY AT e I 3ertt 7 & feraent qoter
T 82

(a) IRIR AT IR

(b) TG AT TS 3T

(c) TRITAHH Mol UTeh

(d) ARG TS 3eTeT

27. 319 7Y AF=Taf@d 7 & o 7T @ gt ol 82
1. 3T IS

2. FET UL

3. 3RES

4. 9iTs ST

oA 4T aTU hYs T 3TN e FEY IR o

(a) haer ¢ 3Ry

(b) 1,33 48

(€)1,23R38&

(d)2, 3348

28. 3afra i Frer & g sfafaafaa fomar s ke
sfafaus oy a&fta ar

(a) FRfAfT Hsegll & smgaer

(b) STTEHEAT T Fefer T WA et o 3T

(c) Fur &1 faaTa

(d) 3rTfearey o7fF T FRmHeT

29. F1978T §f8eT, grHANeR Trer AR et aret eafaf@a &7
A fora @fast 3R & fow ufagy §2

(a) T

(ORMIEERE]

(c) @t

(d) sTeraTSE

30. AFATATEA H & it AT AT AR T TR i
3T &9 & aRATRT T 872

(a). forel &or 3 Tl Seagere |

(b) Tt <er 31 3T gefer et 715 |

(c) wiait shr e & g

(d) S GIAEm3it &hr STrerstrdr|

12




31. "The tribes are nomadic herders and food
gatherers roaming around in Kalahari Desert with
weapons like spear, bows and poisoned arrows to
safeguard themselves and hunt their prey. They do
not domesticate animals nor do they engage in
agricultural activities."

The above passage best describes which of the
following tribes?

(a) Bushmen

(b) Bindibu

(c) Bedouin

(d) Tuaregs

32. In the context of employment, 'working age
population’ is best defined as:

(a) People above 18 years of age

(b) Persons aged between 18 to 60 years

(c) Persons below 65 years of age

(d) People aged 15 to 59 years

33. Jon Beel Mela is a famous fair through which the
barter system is still kept alive. It is organized in
which of the following Indian state?

(@) Assam

(b) Nagaland

(c) Chhattisgarh

(d) Odisha

34. Arabica, Robusta, and Liberica are varieties of
which of the following crop?

(a) Tea

(b) Cotton

(c) Jute

(d) Coffee

35. Haryali and Neeru-meeru are projects related to :

(a) Developing watersheds in rural-areas to conserve
water for drinking, irrigation and.other purposes.

(b) Adopting climate resilient techniques to
overcome the rising threat of global warming.

(c) Spreading awareness about conservation of
forests and environment to students /teachers.
(d) Initiative to{plant one tree per house in urban
residential societies.

36. Which-one of the following foreign travellers
was an. Italian doctor who never returned to Europe
and-settled down in India?

(a) Niccolao Manucci
(b) Duarte Barbosa
(c) Francois Bernier
(d) Marco Polo
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37. Which of the following text deals with a love
story in which a dignitary Kovalan prefers a
courtesan Madhavi of Kaveripattanam to his noble
wedded wife Kannagi?

(a) Tolkkappiyam

(b) Silappadikaram

(c) Tirukkural

(d) Manimekalai

38. With reference to "Ain-i-Akbari", which of the
statements given below is not correct?

(@) The book was written in Indo-Persian style by
Abul Fazl.

(b) “Akbarnama” is one of the three-parts of Ain-i-
Akbari.

(c) The book portrayed Mughal Empire as tolerant
and liberal having composite culture.

(d) It primarily consists of administrative rules and
regulations.

39. This temple dates back to the early eleventh
century and was built in Gujarat by Raja Bhimdev |
of the Solanki Dynasty in 1026. There is a massive
rectangular stepped tank called the Surya Kund in
front of it.

Which of the following temple is being described in
the above passage?

(a) Martand Sun Temple

(b) Dilwara Temple

(c) Modhera Sun temple

(d) Somnath Temple

40. Consider the following pairs:

Indus Valley  sites Location
1. Banawali Haryana

2. Kalibangan : Punjab

3. Dholavira Guijarat

4. Shortughai Rajasthan

Which of the pairs given above is/are correctly
matched?

(@) 1 only

(b) 2, 3 and 4 only

(c) 1and 3 only

() 1,2,3and 4

41. In the context of medieval India, 'Chola lake'
refers to the:

(a) Kallanai dam,:which was built across the river
Cauvery to-divert water for irrigation.

(b) Coromandal coast to suggest the strong trade
links of'Chola empire with South- East Asia.

(c) Sivaganga tank, which was a rain water
harvesting system to collect water for the
Brihadiswara temple at Tanjore.

(d) Bay of Bengal to suggest the strong presence of
Chola navy.

42. In the medieval age, a council called
"Ashtapradhan” featured in the administration of:
(@) Shivaji

(b) Aurangzeb

(c) Sher Shah Suri

(d) Krishnadeva Raya
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37. frafaf@a & & Sl a1 urs e 3T FEet A TEfRa §
e e 9TfafSad ideet of HIaUcead & SXqR] ATEEr
I 3T oieh Tcoll Shoetdil b AT U THG fhaT?

(a) Treh ooqga

(b) Rrercafearrea

(c) forvarter

(d) ATOTHTFer

38. "3MMS-U-31hai" h TGH #H, Ad fGT T Hy=ll H F HiA
AT HET ET 57

(a) TETh 3Tl Bolel SaRT Ss1-HRET el 7 Forddy a1$ Y|

(b) "3RERATAT"  JITST -T-31hady 3 e 31191 F F T &

(c) T F FHaTel ATHTS I AFSU] 3N 3eR FEH(T & FIH
IEIEGAERIKIE K|

(d) 3HH HET T § yerafAes f@F# iR ST i 8

39. IE AfY IRTHS TAREdT ATl 7 ¢ 3R 1026 3 Frerhr
TISTART & T AT JUH @RI ISRl H ST I14T 7|
S8 HTH Teh [Tl ITAATHR ATeTd 8, ol T8 s e
ST Bl

IR A F Aeafaf@d & ¥ fFa A & avie fFarar
WEIE?

(a) ATs g Al

(b) fererarsT #HfgT

(c) YT I #AfGT

(d) BT FET

40. FAFaAfaf@a e 9T R &1
ey arel & Ture

1. SeTarelT: gRITOm

2. STeledTeT; Jolldl

3. ETIRT: IERTd

4. MEETS: TSTEATA

FX &Y 7S HieT TSNS T &1 H A @I g/ 82
(a) Fhae ¢

(b) 2,33 48

(c) 1338

(d) 1,2 334

41. AETFTONT HRA.SF HedT 7, Ol sher Refaf@a &:
(a) Fodls ST4, S0 [AaS & faT gl 3 Jga & fow Had
ST & IR ST 37T 27|

(b) STRTOT-Ydt TTRIAT & AT Tl WHST o Holgd SATIR
P geMdl @ H PRIFASA dc DT SURRA |

(c) Rrearem &, St At 7 gediea AT & forw ureh seheasT
FT & TIT T quT STl TAIT YoTrell 2|

(d) TTeT FAIQAT hr T hT WIST H HoelT 3UTEATT

42, AEFGINGT AT A, "HCCHTA" FATHh Teh TRVE T H
Ry forar arar a:

(a) FRrarsir

(b) 3RS

(c) QAXRATE FIA

(d) FSUTeT T

16




43. Which of the following is/are the features of
Nagara temple architecture?

1. The entire temple is built on a stone platform with
steps leading up to it.

2. Entry to the temple is led through huge and
elaborate gateways.

3. The garbhagriha is always located directly under
the tallest tower.

Select the correct answer using the code given below.

(@) 1 only

(b) 2 and 3 only
(c) 1and 3 only
(d1,2and 3

44. With respect to medieval history, zimmi refers to
the category of :

(a) people who followed revealed scriptures, such as
the Jews and Christians, and lived under Muslim
rulers.

(b) people who often revolted against Muslim
rulership and rejected their authority.

(c) slaves who enjoyed certain privileges in
comparison to other slaves.

(d) people belonging to the radical sects of Islam like
Qalandars and Madaris.

45. Which of the following statements‘is.not correct
regarding 'Jizya'?

(a) Jizya was a poll tax provided under sharia.

(b) The tax was first introduced during the reign of
Qutb-ud-din Aibak.

(c) It was abolished during-the reign of Akbar.

(d) Aurangzeb, reimposed jaziya with no exemptions
for any sections of citizens.

46. 'Ashtangika marga' which recommended for the
elimination of human misery is associated with
which of the following religions?

(a) Jainism

(b) Vaishnavism
(c) Shaivism

(d) Buddhism

47. Consider the following pairs:
Mural Painting Region

1. Pithoro Karnataka
2. Mithila Bihar
3. Warli Mabharashtra

Which of the pairs given.above is/are correctly
matched?

(@) 2 only

(b) 1 and 3-only

(c) 1 only

(d) 2 and'3 only

48. Consider the following pairs:
Literary work Scholar
1. Humayun Nama : Muhammad

Kazim

2. Alamgir Nama : Gulbadan
Begum

3. Badshah Nama : Abdul Hamid
Lahori

Which of the pairs given above is/are correctly
matched?

(@) 1and 2 only

(b) 2 and 3 only

(c) 3only

(d1,2and 3
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43. fAFAfTad # & et AR A arEqhel HY AT &2
1. X AT Teh TedT o TG I 11T 37T 8, STgT eh STl &
fow dfear 5= €1

2. eI # gar faeimer 3R faeqe gaR & AeIH A gIar & |

3. aT8aTE EARAT WY I TR oh wATe) eI grean gl

=Ty feT 7T hls T IUATIT hieh el 3T el |

(a) Fhae ¢

ORERER]

(c)13R3&r

(d)1,23Rk3

44, AERgaNe STaerd & Heaer A, TS fAeafafa & Jofr
H3Targ:

46. 3TSCIIThT AT T AT g@il o Seaelel & foIw
TAwIRer &1 &, efafed & & fha e @ defera g2

(a) et €137
(OERIEEIR
(c) daaa
(d) Siteer =y

47. AFafafEd 37At | faar &L
IEIGRCECICUNR Sl

1. uRr . elleeh

2. Aafer . S8R

3. aReT . HERISE

FOR &Y 1S it WSS T &1 8 AT Wielr &/ 82

(a) SiY oo Tgfeat AR SaTSat & 9 7 YT AT drefel A
¥, 3R AT arHenl & 3efeT T A

(b) ST ST 3FER I AT o [WeTh faele i I 3R
3oTeh ATYHR FT ITAHR IR & A

(c) 31T FCATHT T JoleT H ST T o [FANASR Free |
(d) SETH & FHeXa A UG & e o1l foh dea 3R
HeTRA|

45, SITAT & HaY H Aol 7 & et a1 HYF T T8l
&2
(a) STSIT ARAT & T&T T Ueh Y AT

(b) T& X TGl Sle-3¢-CleT Ueleh o QRAeTehTel H Y& fohar
T AT|

(c) 3T o ATHTDIA h aRT 5U THTCH Y ST IAT AT
(d) 3ETSe, AETRERT & fahelt o aef & fore e e ge &
ST & o |

(@) shdel R

(b) hae ¢ 3R 3
(c) haeT.

(d) 23X 3&r

48, FFafaf@a g R faaR &<
g faeare

1.§7J=|T{r“:a1|a4| . HEFAC
FIfea

2. 3TSIFR ATAT : IcTsee
ST

3. d1G2ATE ATH :Waﬁ?{
ATERY

FWR & TS et TN NS TET GIT T AT W g / 82

(a) haer ¢ 3R

(b)) 3

(c)38r

(d)1,23k3
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49. The spread of Jainism in Karnataka is attributed
to him. He renounced all worldly pleasures, gave up
his throne and became a monk as per the tradition of
Jainism. He traveled far into the south of India before
settling down in Shravanabelagola and spent the last
years as a Jaina ascetic.

The above passage best describes which of the
following rulers?

(a) Samudragupta

(b) Ashoka

(c) Bindusara

(d) Chandragupta Maurya

50. With reference to Sangam texts, the term Virarkal
refers to:

(a) an assembly or college of poets

(b) war booty as an important source of livelihood

(c) stones raised in honor of heroic warriors

(d) rich merchants and royal patrons of the Literature

51. Consider the following terms prevalent during the
Mughal period:

Terms Meaning/Duty

1. Amil Person who looked
after law and order

2. Mugaddam Local village
headmen

3. Shiqdar . Looked after
collection of LLand
Revenue

4. Barid Intelligence Officer

Which of the pairs given above are not correctly
matched?

@1,2,3and4

(b) 1 and 3 only

(c) 2 and4only

(d) None of the above

52. Consider the following statements regarding
Harshavardhana (AD 606-647):

1. The history of Harsha's reign can be reconstructed
from the Allahabad pillar inscription.

2. Hsuan Tsang, a Chinese pilgrim visited India
during Harsha’s reign.

Which of the statements given above is/are correct?
(@) 1 only

(b) 2 only

(c) Both1and 2

(d) Neither 1 nor 2

53. Which of the following statements is correct
regarding the Lumbini Pillar?

(a) It was shifted-to-Delhi by Firoz Shah Tughlag.
(b) It is the-only-pillar with inscription written in
Sanskrit.

(c) 1t was erected by Ashoka to mark the Buddhas's
visitto Lumbini.

(d).None of the statements (a), (b) and (c) are
correct.

54. With reference to the Indo-Greeks, which of the
following statements is not correct?

(a) They were the first to issue punch marked coins
in India.

(b) They captured a large part of northwestern
India.

(c) They failed to establish a united rule in

India.

(d) They introduced features of Hellenistic art in
north-west India.
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49. FaAleeh A SieT T FT THR 30 fov fFFAER Bl 3egia
Tl HATR G T T 2T, 311 Rigret camr fgam 3
SNeT 3T T IRT & IHTHR T [HE] of 10| Iogiet

HIUTS SIS H T & Tgel $TRd & GIATOT H g b JTAT A
AR 3 avf qeF v ST quedt & w9 # faamm|

IR T AFITAT—T H & ford Ardeh &7 quTe] HLdT 82
(a) FHGTeA

(b) 312N

(©) Regar

(d) Teared HIF

50. TITH TAT & TEH #, 2T dRTHel &I aredd &
(a) HIATT T Th THT AT AGIACITT

(b) JTSTTAERT & Teh Heca ol A & &I H I T
(c) AR TIYT3T & TFATA A §1¢ MY IR B1 qfel
(d) AT & FHEH SATIRY 3R ATEY TYETh

51. FITST il o aRTeT Faferd feafaf@e erdf o e ¥

erct 7Y/ e
1. 37fAe : Flolel AR TTEAT Q@ qTell
2. FeheH TN a1 feAr
3. réer : TSI SPHCOl B dAlell
4. 981 : A

IR T T NS H I FiA AT TET &7 & Hel 16T Tl &2
() 1,2,33R4

(b) Faer ¢ 3R 3

(c) 23R 48

(d) IRFT H J IS TgT

52. gYatieT (606-647 §1) % SR H AFATATAT HYUAT X
ICEEETH

1. SATGTETG T3 & TAeTeld H §Y oh ATHThTl oh STIgTT &l
qeATAATOT T ST HehelT B

2. EA—TT, Teh el I g9 & ema=Tohrel & aR1et
IR 31T |

IR RUITHFUA AT RT AT T/ 82
(a) Fhae ¢

OEELE

(c) 1 3R 2=t

(dFar13ikagr2

53. AP T8 o AR H oA & & hlel AT HYeT TEX
&2
(a) 38 THTIST QITE JaTeTeh SaRT el TR Y fer
T AT
(b)aguwwa%,mwmﬁmgaﬂél

(c) TE 312 AT e T Tt 1 AT Y RAfEeTa et &
TIT ST 31T T

(d) TS 87t U (a), (b) 3R (c) FET AET B

54. SE1-FaATT1T & Teel H, fe=Afaf@d # & Fiet a1 hue
el el 87

(a) ¥ IR A TT AT Ao STRY ket dTel Ugel ogfard o
(b) 3+gTeT TRTATR WA & Uah 92 REY I Feoll X form
(c) IARA | Teh Ueholc ATH T il # father @
(d) 3g1T FTR-ITTH 9T H oA TEes Felr 1 FAvaTT
qer |
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55. Which of the following statements is/are correct
regarding ' First Law commission ' during British
rule?

1. It was headed by Lord Hastings.

2. It aimed at codifying Indian laws.

3. Indian Penal code was drafted upon the
recommendations of the commission.

Select the correct answer using the code given below.
(@) 1 only

(b) 2 and 3 only

(c) 3only

(d) 1 and 2 only

56. With reference to British rule in India, which of
the following events happened earliest?

(a) Establishment of Calcutta, Madras and Bombay
University.

(b) Reduction of age to 19 years for appearing in
Civil services exam.

(c) First all India census.

(d) Annexation of Burma by British.

57. Who among the following was/were associated
with the formation of Madras Mahajan Sabha?

1. M Viraraghavachariar

2. C. Rajagopalachari

3. P. Ananda Charlu

Select the correct answer using code given below.
(@ 1and 2 only

(b) 3 only

(c) 1and 3 only

(d1,2and 3

58. With reference to the famous Surat Session in
1907 of the Indian National Congress, consider the
following statements:

1. It was presided over by Rashbehari Ghosh.

2. It passed resolutions on Swadeshi, Boycott and
Self-government demands.

3. It ended with the split between the moderates and
the extremists.

Which of the statements given above is/are correct?
(@) 1 only

(b) 2 and 3 only

(c) 1and 3 only

(d1,2and 3

59. Which of the following was the reason for the
Indigo revolt of 1859-60?

(a) Forceful-eviction of peasants from their land.
(b) Forceful plantation of indigo and low
remunerative price given to peasants for plantation
of Indigo.

(c)Prevention of the tenants from acquiring
occupancy rights on Indigo sown areas.

(d) Ban on export of Indigo and compulsive selling
to indigenous industries.

60. Which of the following is correct regarding
'Revolt of 1857'?

(a) Attacks and violent actions by rebels were taken
against Britishers only.

(b) Most violent activities were confined to urban
centers.

(c) During the uprising, religious divisions between
Hindu and Muslims were hardly noticeable.

(d) There were efforts to establish a modern
government system in the regions captured by
rebels.
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55. farfeer emae & eRrer e fafer smaer & geg &
AT d A A PT AT HUA T g/ &2

1. TP ITETETAT TS e of Fr AT

2. SHPT 3ET AR HIeal ol HiGcATTeH et &
3. 3T Fr AEIRLT R HRAT &3 Afigar &1 Jdler R
EIEpIE

ATy fT 7T hls T IUATIT hieh HeT 3T el |

(a) Fhae ¢

(b) 3R 3Er

()38

(d) Faer 131X 2

56. TR H ToTeer ATaeT & Tedf A, rafaf@a & Tl @
(a) FershdT, A AR diFs fFeafaearera i wumaer|

(b) T&rTerer BT TRIET #H 3UTEY glet & foIv 3 I TeTeh 19
CRETCI

(c) YA 3TET HRAT STAM0TAT|

(d) Torfeer garT s & T &7 faer |

57. =T & & SleT HTH HgTolel THT & 15 H 3 A?
1. TH. IRRTEETAr

2. 9. TSTeNITATaRy

3. Y. 37Teie; =me]

o T 7T hYs T 3TN Y Hgh IR o |
(a) haer ¢ AR

(b) 38T

(c)13R 3¢

(d) 1,233

58. AT TSERT 9 & 1907 & FTAGH §I T & T&af
#, fafaf@a sa ) e+

1. 3HhT EFETAT ITATIZIRY 81T o r Y|

2. 381 TacelT, afgseR 3R Ta-TRT AN W gEdE 9Iike
Eaul

3. Ug Sqrarfeal i Starfeal & i s & arr
HATS 37|

IR RUITHFYA AT PT AT T/ 82

(a) Fhae ¢

(b)) 3

(c) 1338

(d)1,23k3

59. FFITafad # A e 1859-60 & el TAGIE &1 SHROT 2AT?

(a) ForaTel &Y 3eTeht STHYST O dSe@el |

(b) frer B SaRewN Gt g feaEt & i w1 B
T o T |

(c)frer @ @< foy v &= wR AT AfrdR ura
BT 8 fEUATRT & ABAT|

(d) fra & foata 9X gfaeer 3R Facel seme & 3ifaary

fashr|

60.'1857 fagig' & Heyg # AFAT @ A T RT AT T &
(a) Tt gy gl 3R e wRars ahaer ffeer o
& TQeTh Y TS|

(b) 31fRremier féaer arfafafera eredr dhal ae & difda o
(c) e & T, g 3R sqwereTa & ey enfites fasmorer
9gd &9 fearil fear|

(d) RAEIfET & Feot arer 8131 U i WxHN agaeel

wfid &A1 |
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61. The primary objective behind British intervention
in Afghanistan was to

(a) control Afghanistan to prevent it from becoming a
safe place for Indian revolutionary activities.

(b) establish their rule in Afghanistan to make an
alternative way to Middle east.

(c) control Afghanistan to safeguard their Indian
empire from potential Russia's military threat.

(d) establish a strong local government in
Afghanistan to prevent any war like situations in their
neighbourhood.

62. Consider the following statements regarding
Gandhi-Irwin Pact:

1. It included the immediate release of all political
prisoners.

2. As per the pact, the government recognized the
right to peaceful and nonaggressive picketing.
Which of the statements given above is/are correct?
(@) 1 only

(b) 2 only

(c) Both1and 2

(d) Neither 1 nor 2

63. Consider the following leaders of the Indian
National Movement:

1. M. N. Roy

2. Acharya Narendra Dev

3. Jayprakash Narayan

4. Minoo Masani

Who among the leadersimentioned above were the
founders of the Congress Socialist Party (CSP)?
(@) 1, 2and 3 only

(b) 2, 3 and 4 only

(c)1,2and4only

(d) 1, 3 and‘4-only

64. With reference to Indian freedom struggle,
Shanti Ghosh and Suniti Chowdhry are wellknown
for

(@) their contribution in Quit India movement for
running secret societies.

(b) playing an important role in leading a contingent
in 1857 mutiny.

(c) assassinating district magistrates in Bengal under
Surya Sen's leadership.

(d) playing an important role in picketing shops
during Civil Disobedience Movement.

65. Who among the following was/were the
members of Swarajya Party?

1. Motilal Nehru

2. C. Rajagopalachari

3. Shaukat Ali

Select the-correct answer using the code given
below.

(@) Xonly

(b),2-and 3 only

(c) 2and 3 only

(d1,2and 3

66. As per many historians, it was a war which was
never actually fought. Blackhole incident was a
major driver of this war. It was an important
landmark towards the onset of the British conquest
of India. The battle being described here is:

(a) Battle of Plassey

(b) Battle of Buxar

(c) Third Battle of Panipat

(d) Battle of Wandiwash
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61. ITHAMTAEATST H T ETETT o UTes Yrafdeh 3682 o
(a) TR shifcehrT Irfafaferat & fere veh griaTa Ture gefat
ket o FoIT IHIMTAEAT ol [T BT

(b) FET 4 & foIT Teh dehToden TEdT Salel & ferw

TR H 39T ATHT TATTAT HIAT

(c) THITAT &F & e T W 3791 HRAT HTHTSZ T FR&TT
& ToIT 3rhanfaedsT R fag=or)|

(d) PIMTAEATH H Teh HoTe T FATAT DN TATAA  BRAT
dTieh 3eTeh ag1d H fohall 8ff g & Jeer hl AT ST Feh |

62. frrafafad sy I fTar #¢

aef-sfaeT gHEsaT:

1. 38 FHY TStetifcies et S dearel Rars anfarer o
2. W% & 3TTER, TR o ATfqoT 3R IR-srarfereier e
93’9 & 3SR FI ATTIAT AT

IR RTCITHFAAT T A AT AT TS &/ 82

(a) dhae ¢

(b) el ?

(c) 1 3T 2 gt

(d)FTar13iRAE2

63. STRANT TSEIY 3aiersT & e @d adr3it W R
I

1. TH T 30T

2. Ay Mg &g

3. STAYHTRA ARTIOT

4. #iey AT

SIRI A3 H T el hiIF Alerferee ares (CSP) &
TEUIH A?

(a) haer ¢, 33

(b) 2,3 34 &Y

(c) 1,2 3R 4 haer

(d)1,33R48r

64. TR TATAT FATH o FeeT A, enifel e 3R gerfey
BRI AR

F o

(a) ITd FATS AT & fT HRA BISY 3Tl H IaTehr
AT |

(b) 1857 o TacIE # AcJcd il & HecaquT 37fAeT FIHTE |
() T AT o Acfea H FaTTer 7 ToTTRIRIRT Y Gl

(d) FSeTar 31a=1T JieTerel & R gehlel ue ' ug i &
weyel YT el

65. AT T 7 & ShieT TARTST UIET & erT A?
1. AT Ag®

2. TY| TSTINATITay

3. Qifehe 37el

=T {7 7T g 2T 3ATIT hieh el 3T e |

(a) Fhae ¢

(b) Faer £ 3R 3

(c) 23X 3&r

(d) 1,233

66. FS STAGTHHRI & 3NTAR, AT U I AT 3 areaa
8T STET oTST I1T AT| SlhgTel TeTl $H Y& Fl Teh JHE>
TTefeh UT| J§ R 1 fsfeer fasrer T ge3ind & fov v
FETYUT #HYeT T T2 AT gt ot 1 W oT3rs &
(a) ceITHY 1 o15TS

(b) FFE T JeH

ORIGIEGETRI R EE

(d) gif3arer $r s
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67. Consider the following pairs of movements and
their leaders:

Movement Leader

1. Ramosi Vasudev
Balwant Phadke

2. Kuka : Baba Ram Singh

3. Pagal Panthis : Digambar
Biswas

Which of the pairs given above is/are not correctly
matched?

(@) 1 only

(b) 1 and 3 only

(c) 3only

(d1,2and 3

68. Consider the following passage: The Ulgulan
occurred during 1899-1900. It began as a religious
movement and soon acquired an agrarian and
political connotation. The leader of the movement
encouraged the killing of Jagirdars and Rajas and
declared that Satyug would be established in place of
the present-day Kalyug.

Which of the following is being referred to in the
above passage?

(a) Santhal rebellion

(b) Munda rebellion

(c) Tana Bhagat movement

(d) Chuar Rebellion

69. What was the reason for Surendranath Banarjee
and other liberals to leave Congress and form the
Indian Liberal Association?

(a) Disagreement over the acceptance of Montague-
Chelmsford reforms.

(b) Discontent-over the abrupt withdrawal of Non-
Cooperation Movement.

(c) Conflictover the presidentship of Congress.

(d) Resentment over Congress-League pact.

70. Which of the following statements best describes
the 'safety valve theory' of Indian National Congress
(INC) formation?

(a) 1t was formed by bourgeois leaders to safeguard
the interest of zamindars.

(b) It was formed by the British to provide platform
for releasing growing discontent of the Indians.

(c) Its formation was a natural culmination, of
political work done by early nationalists:

(d) It was formed to promote socio-religious and
political reforms in Indian society.

71. Mahalonobis model adopted in the Second
Five-Year Plan is associated with

(a) Agricultural advancement

(b) Modernization of army

(c) Large scale industrial development

(d) Promation of cottage industries

72:Which among the following sectors is/are
covered under the Index of Industrial Production
(11P)?

1. Mining

2. Manufacturing

3. Electricity

Select the correct answer using the code given
below.

(@) 1and 2 only

(b) 2 only

(c) 1and 3 only

(d1,2and 3
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67. 3TaTell o AT AT 13 3R 3% AdT3iT W faarR &3

3ferelst & adr

1. THEY arged
JoIdd hsh

2. T CICIRE AT

3.UET gy feEieR
foearg

FUX &Y IS et WY ST T G  AA gl @il / 82
(a) Fhae ¢

(b) Faer ¢ 3R 3

(c) 38

(d) 1,2 3R 3

68. fe=ifarfla ATt W faa #Y: 1899-1900 3 1=
ST G3T| TE Ueh UTTAS HTeTelef & &I H Y& g3 AR
TG 81 Teh Y 3R TeTeiicieh UROT g1l &Y off| JieTere
F AdT ¥ SARMRERT 3R IS I gcaT FI wcaried har
3R BT &Y o TTHAT gl 3 TUTeT TR FAGT hT TATIAT
r STt

IRIFA AT H Tt # & forr Tefira fonar ST Igre?
(a) @uTe fagle

(b) #HzT faeTe

(c) CTaT HITT 3HTcTeldd

(d) I3R T

69. FReoraAT Fefoil AR e IERATET & HIIH BIsa R
R 3G Y SeTTeT ST FIT-HIROT 2T?

(a) AICTF-UFEHIS FURT T Fdlehicl T FAEH |

(b) 3TEEIIT 3TCTeTeT S 3TTeTeh aTIT W 3T |

() I & LT e, T TV

(d) FIAF-ST A I ARTSTIT |

70. fafaf@d & & i a1 FUT ARCT TSET HT
(INC) & 318+ o & dled Retid’ &l Hod 37eaT aulsl
AT §?

(a) FoI3TT AT GaRT STHIGRT o Tl T &1 o forw sqet
ISt foh T a1 AT|

(b) SHRT ITSeT 37T GART HRCAT & TG AT Plgl
Fol o TIT HT UeTed hlad & Torw fomam aram i

(C) SHHT ST URTHF ASATGAT GaRT fhT AT Tt i
Ft 1 ues FareTias aRorfa oy

(d) ST TS HRAT THTS H TTHATToTeh- TS 31T
TSttt GURT T SerdT S & forT fohar arar &)

71. AGTAATSH HASel I g Yaasfia Arem H 39
arar

REELPRICCINCREICERS

(a) T Se=ifel

(b) BT T e frehrenyoT

(c) 513 FAT 9T 3T emra

(d) FER 3Nt T TGTaT &l

72. fAFAT e & & shiet A1 817 eI Scuree Fahih
(11P) & 33T 37T &2

1. @

2. fafastor

3. forsrelr

oA 4T aTC 1S T 3TN Y FEY IR oA |

(a) haer ¢ 3R

(b) el R

(c) 1338

(d) 1,233
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73. Which of the following statements correctly
define(s) 'Fiscal deficit'?

(a) Excess of total expenditure over revenue receipts
and non-debt creating capital receipts.

(b) Borrowings from RBI, abroad as well as net
borrowing at home.

(c) Excess of government's total expenditure over
total receipts.

(d) Both (a) and (b)

74. Which of the following statements are

correct regarding the Monetary Policy

Committee (MPC)?

1. It is a statutory body.

2. It is a six-member body headed by RBI Governor.
3. It is responsible for determining the inflation
target.

Select the correct answer using the code given below.
(@ 1and 2 only

(b) 2 and 3 only

(c) 1and 3 only

(d1,2and 3

75. Which of the following is/are examples.of ex-situ
conservation methods?

1. National parks

2. Botanical gardens

3. Zoological parks

Select the correct answer using the code given below.
(@ 1and 2 only

(b) 3 only

(c) 2and 3 only

(d)1,2and 3

76. Which of the following was the first
conference/convention on the depletion of the Ozone
layer?

(a) United Nations Framework Convention

on Climate Change (UNFCCC)

(b) Saving the Ozone Layer conference

(c) Convention on Biological Diversity

(d) Vienna Conference

77. The Indian Federalism can be best'explained in
terms of:

(a) an agreement between the center and constituent
units in order to set up a federation.

(b) dependence of state government on the centre for
all funds, functions and functionaries.

(c) constitutional devolution of powers to the state
governments.

(d) extraordinary powers with center to unilaterally
change the federal principles of the constitution.

78. Consider the following pairs of features and
the.acts which introduced them first:

Features Acts
1. Introduction of a : Pitt*s India Act of 1784
Board of Control to
manage political affairs
2. Introduction of
Open Competition for
selection of Civil Servants
3. Association of
1909 Indians with the
Executive Council
of the Viceroy
Which of the pairs given above is/are correctly
matched?
(@) 1and 3 only
(b) 2 and 3 only
(c) 3only
(d) 1 and 2 only

: Charter Act of 1813

: Indian Council Act of
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73. AFATATAd & & Pl AT HYUT TEY Aok T TRATT AT
&2
(a) TroTea YTfeeat 3R IR0 & 318 el o7 1 AR
qoft grieeT|

(b) AR RoTd Sk & faer & 3UR & WY-H1Y B W Yy
3YR &

() FeT ITCTAT I FIFR o el T T ITARcAT|

(d) &t (a) 3R (b)

74. Aifge Aifa afafa (Tade) & geg & Hfaf@ad a
PIT A YT TETE

1. I8 U i AT &1

2. Ug TRET3TS AT T 3ET6TAT H T &I [T 1
3. I ArERTA & e 1 el e & faw SeAer B
AT fET 91T g T ITGNT hdeh TET 3R Yo |

(a) shaer ¢ 3R

(b) A3

(c)13R3&r

(d)1,23R3

75. FATITEd & A HieT qrga—wa= T3aTor fafti &
30T 87

1. TSEH 3T

2. FreTEqfden 36T

3. S[elfotarel U

oA 4T aTU hYs T 3TN o FEY IR oA |

(a) shaer ¢ 3R

(b) 38T

(c)23R 3§

(d) 1,231 3

76. 31TS1leT U & &TOT X Ul GFHoleT / GFHAT
AT T # & et AT 2T?

(a) TYeFd TS ShHdS hed el

STerary qRdcel 9 (UNFCCC)

(b) 3TSTIeT U HFH AT T TATeT

(c) ST Tafaerdr X Feaera

(d) FreTr gt

77. AR HUATE Sl HH 37T alieh A THSIT ST FehdT
&

(a) FAGTHY T TATIAT o [l oh; 3R T SHISAT & 1T Th
AT

(b) T3 TRfrt, raf 3R FrIEwsanit & fow Fg R IsT
TSR T TR

(C) =T TR &I ATFAIT o7 FauTfeAeh faaele |

(d) g o FTY STATUROT ATFar A= & Fera Rfeurdr
I THAIHI T F deold & faT|

78, fefated Zoat ) faaR Y
51T el o 3¢ Tgel 9T foha:
@ rerarg

1. T §1E &t
TSTiTTcIeh HTHAT T
JateT <7

2. fafas G9a1 @ 999 @

forg geft gfeafirar
BT IATATST

3. GRRRT 31 dRAGROT AR 9Rve sifafaas
¥ R &) sufkerfa 1909

FX &Y TS HieT WY NS TG H A W g/ 82
(a) haer ¢ 3T 3

(b) 3R 3

()38

(d) Faer 1 31k 2

N iBICEE)
: 1784 &1 Tcw sf3ar vae

© 1813 &7 ITeY UaFC
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79. The 'Christchurch Call To Action’, recently seen | 82. Recently, the Government of India has released a

in news is a/an initiative to five-year vision plan 'EQUIP' to:

(a) establish international understanding and (a) ensure access to quality higher education.
cooperation on refugees crisis. (b) make India a net defence exporter.

(b) address the issue of violent extremist content (c) ensure access and affordability of tertiary health
online. sector.

(c) stabilise the oil prices. (d) help women entrepreneurs achieve selfreliance.

(d) support autonomy of Hongkong.

83. The beginning of the Parliamentary System in
80. Arrange the following states in the chronological | India can be traced back to which of the following

order of their formation: Acts?

1. Haryana (a) Charter Act of 1853

2. Nagaland (b) Government of India /Act, 1858
3. Gujarat (c) Government of India-Act, 1919

Select the correct answer using the code given below. | (d) Government of India Act, 1935
(@) 2-1-3

(b) 3-1-2
(c) 3-2-1 84. In the context of the Indian Constitution, the
(d) 2-3-1 "union of the trinity", as described by Dr AmbedkKar,

includes:
(a) liberty, equality and fraternity
81. Chang'e 4 and ARTEMIS, recently seen in the (b) the legislature, the executive and the judiciary

news, are: (c) Fundamental rights, Directive principles of state
(a) Earth like exoplanets. policy and Fundamental duties

(b) greenhouse gas observing satellites jointly (d) Union list, State list and the Concurrent list in
launched by China and United States of America the Seventh Schedule

respectively.

(c) lunar exploration programmes of China and
United States of America respectively.

(d) space debris removal missions‘of South Korea and
France respectively.

29




79. FISECT il T UAeT, §TeT 6 H TR H S8 1T Uehr /
Th Ugel &

(a) ROTITITT & Hehe X ITARTSEIT TAST 3R Fgaer Tufaa
FAT B

(b) & TRFAIL ITIATST TTFIAT B ggATHAT |

(c) deT I AT FFUR B |

(d) BTRTERTeT ST TATIAAT T THL|

80. TR TN T 3oTeh IS & HTelleIshiHh HA H
Taeyd

1. gRmom

2. RS

3. ISRIT

AT fET 91T g ohT TGN hteh TET 3R Yo |
(a) 2-1-3
(b) 3-1-2
(c) 3-2-1
(d) 2-3-1

81. AT § 4 IR AT, Tl &1 H TRI H @ T

(a) 92 & TRE TFHITAAC

(b) herer: e 3R TYFT AT HARHT CaRT T T &
died T 3T 9 &89 9 & Idcid & qrell
SUUE

(c) haer: Tl IR HYF T AT &b T 3feavoT
FTIHH|

(d) ShFTer: GTaToT HIRAT 3R Wi 3 IFARET Fels I gl arel
e |

82. &TeT &1 H, IRd THR & EQUIP *& forw ues Jaadiy
TS Qs Iy $r g:

(a) FoTadTqef 3T RIS e TgT AT HIAT

(b) HR T erer T&TT folTereh Setetr|

(c) e FATELH &1 T Ig T IR FHLY AR FLeT|
(d) AT SeAMRGT 1 JTcATASRAT gTiel et & Heg
HEAT|

83. 8Tl # THIT TGl Y LTI &l Il foleT 7 F fohay
fafETe & e ST Thar &7

(a) 1853 T AT ATATHIHT

(b) ART TFR ifafaTs, 1858

(¢) ¥R TR A™ATH, 1919

(d) ART THR fafAT#, 1935

84. IR TIAYUT & T A,

3| 39 earT aford "Rfadr & Ta F enfaer &

(@) T, FHATA AR SYcd

(b) farenfrepT, SriuTfersT 3R =amzrarfereT

(c) Fifors 3R, ToT Afa 3R FifeF Fdicar & R
Reura

() et rgege 3 wer e, ot e 3 et
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85. Which among the following recently became
the first nation to declare climate emergency?
(a) Sweden

(b) Ireland

(c) United Kingdom

(d) Germany

86. In the context of the constitutional history of
India, which among the following reports/bills was
published earliest?

(a) Karachi Resolution

(b) Nehru report

(c) Swaraj bill

(d) Commonwealth of India bill

87. The term SWIFT sometimes seen in the news in
the context of:

a) NGO for protection of environment.

b) Mobile App for public transport.

c) A software for worldwide interbank transactions.
d) Report of status of child trafficking.

88. In the absence of the Speaker, who amongst the
following preside over joint sitting of the two houses
of Parliament?

a) President

b) Vice-President

c) Deputy Speaker

d) Deputy Chairman

89. PINAKA, recently seen in the news is-related to
which of the following:

a) Indigenously developed anti-tank missile

b) Indigenously developed missile defense system
¢) Supersonic surface to air cruise missile

d) Indigenously developed rocket launcher system

90. Which of the following is not a compulsory
provision under-the 73rd Constitutional Amendment
Act of 1992?

a) Fixed tenure of 5 years for the Panchayats.

b) Devolution of powers to Panchayat to prepare
plans for economic development.

¢).Organization of Gram Sabha in a village or a
group of village.

d) Establishment of State Election Commission

for conducting election to the Panchayats.
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85. STeTaTy TUTehTel TN Sl aTell Tgell IS §1?
(a) ST

(b) 3T

(c) Ferses fohars A

(d) ST

86. HRA & Tafais sfagrd & Tedl &, eafaf@a A &
et A1 RAIC / 9T ST, gemfRia forar arar ar?

(a) A Hhed

(b) SE® s RUTE

(c) E&T forer

(d) PIFTICY 3T 337 foer

87. Bave eeg Ha-F3 5T et H TARR & W AT S

a) TATEROT T F&T o T NGO |

b) Trdifaies gRageT & forw Aarser 09|

¢) G 8 # $eTdh oleiet & foIT Ueh Aitrea |
d) STl IR 7 At & RArE |

88. 3TEYET I HTUTEUTT H, HHe & aleil Heall &bl Fgerel
Jooh B IreueTdr BT bedr 2 |

a) Irsgafa

b) 3IRTSCTT

c) 3o Tt

d) 3gasafa

89. fU=TRT, BTel &1 A FATIR H ¢@1 3T fFafaiaa # 4
o gefaag:

a) Tacel ¥ ¥ fawfad vér-de faage

b) Tacelt & & oo A THATSer W8T JoTelr

¢) UXH 1o Al & &1 ol fAaTST

d) Tacelt &9 & fasr g Iehe dlfear JoTelr

90. 1992 & 73 d Fatfie et ffATd & dgd
Prfaf@a & 8 i v 3fear wraura 78 &

a) TaTIdl & fov 5 av &1 RAfad i |

b) 371 AT I AT IIR FLa & fT garag i
IfFadt &r TrTaRoT

C) Ueh 311q AT 3la & HHg H UTH THT T HITSoT |

d) TR & foIT Teird el & fore Ty o 3t
& TATIAT
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91. Consider the following statements with
reference to National Legal Service Authority
(NALSA):

1. It is a statutory body.

2. President of India acts as the Patron in-Chief of
NALSA.

3. It organizes Lok Adalats for amicable settlement
of disputes.

Which of the statements given above is/are correct?
a) 1 and 3 only

b) 1 and 2 only

c) 2 and 3 only

d)1,2and3

92. Greater Bay Area recently seen in the news
is located in which of the following countries?
a) USA

b) China

c) India

d) Japan

93. India is a member country of which of the
following organizations?

1. East Asia Summit

2. ASEAN + 3

3. Asia-Pacific Economic Cooperation (APEC)

Select the correct answer using the codes.below:
a) 1 only

b) 2 and 3 only

c) 1 and 3 only

d) 1 and 2 only

94. Which of the following committees examines the
appropriation accounts and the finance accounts of
the Union Government?

a) Public Accounts Committee

b) Estimates Committee

c) General Purpose Committee

d) Business Advisory Committee

95. NAMASTE portal, recently seen in the news is
related to which of the following:

a) Scholarships for higher education

b) To keep a record of touristactivity in India

c) To promote tourism in foreign countries

d) For centralised collection of statistics related to
AYUSH

96. ‘Global-Environment Outlook Report’ 2019, is
released by?

a) World Wildlife Fund

b) United Nations Environment Programme
¢). The World Bank

d) United Nations Flagship Publication
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91. ISEIY Hlefell AT HITAIUT(HTTHT) T HES e i@
FYAT R AR fifaw

1. I8 T denfaies AT B

2. R & TS AT @ TIETH H &I H FrT A &
3.7 faamet &1 dieréye’ et & fore ae srererdt
TSI FATE

SR RUIUFHTA F A RT AT T §/ &2

a)haer 131X 3

b) 1328

c) 2 3R 3 &g

d)1,23R3

92. A § TRIT &1l &Y & HER & @1 31T
fef@a# a fFaca A Ryag

a) JuaT

b) dleT

c) AT

d) SITaTeT

93. 7R TiF=Ifoifld 7 & fohg HaTasT T deeT g g?
1. &t ufRrar Riex @F e

2. 3R + 3

3. ufRrr-uend 3 @gIeT (APEC)

AT T a7 1S T UGN leh HEI 3T Yo'
a)$had 1

b)2 338

c) haer 131k 3

d) 1328

94. Pafaf@a afafaal & @ wia-dr e @rdr it $g
TIHR o o @rdr r Sirg kcll g2

a) ¥ls or@T gfATa

b) ytap e affifa

c) AT yaTsTeT afafa

d) SATIR HellgehR AiATT

95. BTl & & TATIR H SWT 31T NAMASTE Weel, faeafafad
H & fraa gefiag:

a) 3= gt & fov orgfa

b) R & Tdce Afafafer &1 Revis T@at & faw

c) [ae et & gea =Y Sorar &

d) TG J T 33 Helhd Harg & forw

96. ATgeh THTAROT 33Tl RUIE '2019, EaRT SR fawar
AT

a) fagg a=usig HIy

b) HgF<T ISE qATEROT Hrsha

c) fAeg d=+

d) HFFcT ISE T FAITRAT Tfeeiehre
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97. ‘Mission Shakti’ recently seen in the news is
related to which of the following?

a) Sanitation drive in rural India

b) Military Exercise of South Asian nations

¢) ISRO’s re-entry module mission

d) DRDO’s Anti-satellite missile test

98. Mt. Makalu recently seen in the news is located
in?

a) South Africa

b) India

c) Nepal

d) Pakistan

99. BOLD-QIT, a term recently in the news is related
to:

a) An indigenously developed surface to surface
cruise missile.

b) An online consumer redressal mechanism.

c) An integrated border management system.

d) An Information Technology promotional education
campaign.

100. What do you understand by the term
‘Regulatory Sandbox’, recently seen in the news?
a) It is a tool to regulate illegal sand mining in the
country.

b) It is a framework used by financial sector for
small scale, live testing of innovations.

c) It is a method to keep in check corruption levels
in Government offices.

d) It is a method used by private companies, for
increasing efficiency of work.

101. Which of the following is.not one of the main
functions of the Reserve Bank of India?

a) Formulating policies to facilitate external trade
and payments

b) Supervising the entire tax system

¢) Maintaining accounts of central and state
governments

d) Regulating Payment Systems

102 “World Happiness Report’ is released by which
of the following?

a)-World Bank

b) International Monetary fund

c) Sustainable Development Solutions Network

d) World Economic Forum
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97. TRereT AfFd 'grel & & FATART A @ 71 fe=1 7 & for e
J gEfaa g?

a) ATHIUT IR H TaTSdT JTHATT

b) gfeToT TS geit &t deg 31T

¢) TR T YoT: AT Higgel fAeT

d) SIARET3T HT -V arse fAager alrefor

98. HTST FHTC &TeT &1 7 THATIR 3 ST 71T, v TUTA T
Taage

a) &TaYuT 3T%hreRT

b) $TR

¢) 9T

d) qrferEdreT

99. BOLD-QIT, §TeT &1 & THTIR # Teh Usc;, A TS &:

a) Ush T2l &0 A T AT HcTg U oleh ool [AHTS ST cIeh |
b) Teh 3HTeTelTssT IUFAT fAaRoT a7 |

C) Teh TehTehcl HAT YeieT JOTTelT |

d) Teh FEeTT FlefarehT yam R siferaret|

100. 39 “YF[eledl Hsalard’ eg A FATTFASIAE it

Tl &1 & JATIR H ¢@T I™AT 8?2

a) T§ A F 313Y ¥ WA I [AITIT et T Teh 3TFIOT & |
b) Ig B¢ YATe & forw ol &1 garT 39ier fonam 31re,
FAATARY ST ITET0T B ATlT Ueh &laT &

C) IE TIHRT HIRATRT H HSETOR & TR ST S el & [T
s [Afr gl

d) TE TS =i & Y ol Hufat SarT e Sl aTar dgre
& forT 3T S AT B

101. fAF=TITET & & et HRATT Rotd S o Fe Hraf 7
T TFH AL &7

a) I SATIR T FrAUTsteter FaT1e & fore Afer qerer
3R gaTaTTe

b) HYUT & YUTrell 3T TAGETOT HTaAT

¢) % 3R TST S WIAT Y TATT IG=AT

TAIRRT

d) $39TcTeT oTTell T fafargers

102. go3 ol R fArafaf@a # & fFash garT sy
Fras g

a) [Aeg d=

b) ST T 1Y

¢) Tad TaehTH THATYTA Acdh

d) faeg snfds A
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103. Mosquirix, recently seen in the news is related to
a) Genetically modified mosquitoes to prevent
diseases

b) Vector control program of African Nation

Malawi

c) World’s first malaria vaccine

d) None of the above

104. The Government recently launched a scheme
called ‘Paramparagat Krishi Vikas Yojana’ to
encourage various farming practices. Which of

the following farming practice is not included in the
definition of the scheme?

a) Zero budget Natural farming

b) Vedic farming

c) Plantation farming

d) Cow farming

105. Which of the following is the objective of
Rashtriya Gokul Mission?

a) To ensure adequate development of livestock,
especially small livestock.

b) To undertake breed improvement programme for
indigenous breeds.

c) To provide assistance for prevention and control of
animal diseases.

d) To strengthen infrastructure for production,
processing and marketing of milk and milk-products.

106. Which of the following does not come under
Direct Taxes?

a) Corporate Tax

b) Interest Tax

c) Central Sales Tax

d) Dividend Tax

107. The term “open door policy” is related to which
of the following countries?

a) China

b) USSR

c) USA

d) India

108. The process of political and economic reforms,
called Perestroika (restructuring) and Glasnost
(openness) is related to which of the following
countries?

a) Soviet Union

b) China

¢) India

d) France
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103. ArAf¥aRE, T & H TARR A @I AT R

a) 3TeTa RIeh &7 § HAMAUT FeoX ot AN Bl dad ©
b) 3R IST AATAT T dereX 0T FrIsher

c) a2 &1 Ygarr Fa AT dordlaT

d) SRIFd H T IS ALY

104. THR = gTeT &1 A faffiet FY geefadt wr fearfed

el & TN TRFORTIT Y TR DYsTell ‘=ATH Teh Trsfell
AEHE

fArfaf@a d @ @le a1 HiY getia Arsta s aRsmsm 7
anfAe AgT 82

a) eI 1T T fcsh Wt

b) afeh @t

NEINIEIRCGI

d) 31T qretet

105. & el AT oAl & & fohaent 3eged &7

a) T[T T qATee faehr FiAREd et & oI, v &9 &
oI g & T |

b) Faerel T Eelt o foIT el GUR HRIHHA Y& HIaT|

c) TRI31T Y AT hr AewarH AR fAI=oT % forw agradr

Y&l T

d) 3cutee & foIT JiAATEr T Y AT A & I,

gy 31X g 3cuTeT T FEEROT 3R fagure |

106. TiF=1 T T # & et TcTaT I o IHAdTd olal AT &2
a)EI'T\IJ'CIﬁ?éW

b) STt X

c) o ToshT T

d) STHTA FT

107. "309eT 3R gifardl" 2o, feafaf@a # a fra e a
R

a) dieT

b) JTATHIR

c) JuHv

N

d) AR

108. st fcien 3 30T et i ufshar, ford Qxega
(qeT9TGeT) AR TAHAEE (GeATTT) HeT AT &, T H A
R ¢ ¥ Tafdd g?

a) AfaTa g

b) Tt

c) HART

d) g
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109. Which of the following indicators is not used in
the calculation of the ‘Human Development Index’?

a) Gross national income (based on purchasing
power parity)

b) Infant mortality rate

c) Life expectancy at Birth

d) Expected and mean years of schooling

110. Which of the following states have decided to
make the first blockchain district of the country?

a) Andhra Pradesh
d) Karnataka

¢) Maharashtra

d) Telangana

111. ‘Swas, Star and Safal’ recently launched by
CSIR, are a type of:

a) Electronic equipment
b) Electric vehicles

c) Respiratory machine
d) Fire-crackers

112. The proposed Green Wall of India is a stretch
spanning from?

a) Kerala to Maharashtra

b) Tamil Nadu to West Bengal

c) Gujarat to Delhi

d) Meghalaya to Arunachal Pradesh

113. Consider the following statements:

1. MOSAIC is an expedition exploring the melting
of Antarctic glaciers.

2. The project is being carried out under the aegis
of the Antarctic treaty system.

Which of the statements given above is /are correct?
a) 1 only

b) 2 only

c) Both 1 and 2

d) Neither1 nor 2

114.*Smominru’, recently seen in the news is a
type of:

a).Malware

b) Exoplanet

c¢) Mini Satellite

d) Cryptocurrency
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109. HTeTd TAehIE Faehieh ‘Sl 01T A fe=fafad & & forag
HehcTeh T 3TN 76T [T STl 572

a) Hehel TSEIT T (WG 9T 3 rferd dadm)
b) fRII Feg &

C) STeH o THYT SideT T2

d) Tl f1eT 6 arganfa sitwa asf

110. TR # O 58 TSI o 22 T YT sellehdsT ToTell
T 1 Aot foram &2

a) 3T 9T
d) SaiTeeh
¢) HERISE
d) 3T

111. HIUH3TEIR EaRT T &1 H dlied fhU 31T @M, TER
IR THT TR YRR F &

a) SolFFgifeleh 30T
b) SelfeFgeh dTgel

c) {aHT T

d) 9eT@

112. IR &1 9EdTfad A dicd B8l db ﬁﬁﬁgé%?

a) el H AGRISE
b) RIS & TRTH ST T
c) ToRTT & feeei
d) FETTT T 30T YS2T deh

113. AFAfTEd H U« R foarR &3

1. MOSAIC Teh 3TTRUTT & St 37eToh e Ta IR & frerelat dhr
ST gl

2. IRAISTT 37eTehies i Yulell & dcaraele & T 7
We

IR RTITHFIAT H A RT AT I 6/ 872

a)hdd 1

b) &aer 2

c) 13 28kt

d)sTar1 AR Tgr2

114. TAAE, 1T 81 H FATIR H ST a1 § TP FehR T
a) Heramw

b) TFHITAT

c)mm

d) et
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115. Match.
(Radio isotopic) (diagnostic indicator use)
P-arsenic-74 1- thyroid gland activation
Q-Cobalt- 60 2- Blood abnormality
R-lodine-131 3- Tumor
S-Sodium-24 4- Cancer
P Q R S
A- 1 2 3 4
B-. 4 3 1 2
C-. 3 4 1 2
D-. 4 3 2 1

116. Choose the incorrect statement from the
following

A. Dadasaheb Phalke Award 2018 given to Amitabh
Bachchan

B. Dr. Kalam Smriti International Excellence Award
2019 given to Bangladesh Prime Minister Sheikh
Hasina

C. APJ Abdul Kalam Award 2019 given to ISRO
Chairman Dr. K. Sivan

D. Gandhi Peace Prize 2018 was given to the Single
Campaign Trust

117- Select not matched from the following.mobile
apps

A. Damini app - for electricity warning

B. Darpan App - For Postal Insurance

C. Aarambh app - for road safety

D. Pencil Portal - to make digital lifestyle for teachers

118- Choose the inconsistent related to various
committees and their functions

A. Rekhi Committee - Indirect Taxes

B. Rajmannar Committee - Center State Relations
C. Gadgil and Kasturirangan Committee -
Conservation of Western Ghats

D. Sarkaria Commission - For Banking Reforms

119. Which state has become the first Indian state to
get fund through World Banks Climate resilience
program.

Tamil nadu

Kerala

Andra Pradesh

Odisha

oo o

120. Assam accord, which is in news recently signed
on-

1971

1975

1981

1985

o0 o
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115. &=

(fSaT gHEATAR)  (AeTioieh Hehcleh 3UAMN)
p-3Tifw -74  1- URRTYs A w@fsrzor
Q- FleTee- 60 2- Yo Y ITHTHTEIAT
R-AME-131  3- T
safsa-24 4-FW

P Q R S
A 1 2 3 4
B 4 3 1 2
C 3 4 1 2
D 4 3 2 1

116. fAF=f @ & @ 377 YT I giAw

A. GTET TTES Hleeh 31aTS 2018 AT STae Y f&am aram

B 31| &heltd T fcl 3TeRTSERT Seehseell REDR 2019 FiTele]
Fr geTAHAT ARG AT 1 feT Irar

C TS 37sqel FollH JIERR 2019 FEA & IEFLT 31| |
et St feam srar

D 9TTelY QAT qREHR 2018 Y Tehel AT g&e o feam arar
Aq7

117- faraAfaf@a Alesd tasa & | Taa gid &7
TAT BR—

A. SIfREAT T - fasTelr ST Adrae & farT

B 3RUT 0T - Gi¥ed 329 & fow

C 3RS VY - Feh & & foIw

D 9er a1 - fAreteht & forw B shiaet el sy & forw

118- TafPe=t GRATET 3R 37k il & HelfereT 3T Yol
a 3@ afAfd - 3vcgsr o

b ISTHAR ATATA - ohg; AT FaY

C ST 3R HEIRITT AT - TREHT TTet T FI&Tor
d XRIRAT AT - dfehaT GURT & fow

119. T A T T4 o STefary ofelelae] HIIsh &
AreH ¥ A gred e aTe gt HRAT UoT 97 IR™AT§
a. dfAe =13

b. el

c. 3T ucer

d. 3nf3em

120. GHTERI ¥ Y8 399 gHsiid U g feu -
a. 1971

b. 1975
c.1981
d. 1985
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121.The first ever Himalayan states conclave is slated

cooe

122,

cooe

123.

oo oo

124.

oo oo

to be held in which state-
Himachal Pradesh
Meghalaya

Uttarakhand

Jammu and Kashmir

Which European country has decided to impose
a green tax on plane tickets from 2020-

Austria

France

Germany

Poland

Union government has launched which human
atlas initiative for holistic understanding of
human body-

DNA genome

Manav

Primitive manav

Cave manav

Who has been appointed as head of cricket at the
national cricket academy-

Sourav ganguly

VVS laxman

Rahul dravid

Anil kumble

125. Which state has topped the Niti Ayog first ever

o0 o

126.

o0 o

127.

o0 o

128.

o0 ow

india innovation index-
Maharashtra
Telangana

Karnataka

Tamil Nadu

Which of the first city in india to introduce Hop
on Hop off (HO HO) service to promote
tourism-

Mumbai

Kolkata

Hyderabad

Delhi

Which Indian elected as a member of
international Olympic committee-
Narendra Batra

Mohan Batra

Nita Ambani

Indira Nui

Mekedatu reservoir and drinking water project
constructing in which river

Krishna

Godavari

Kaveri

Mahanadi
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121. FRHATRN T &7 Ugell TFAo [y T & 3mafaa
T T g

a. fgATIe yeer

b. AgTeT

c. @S

d. S AR AR

122. TohE U 2T = 2020 F §aTS ST6TST & feehe TR e
EFH ST T e foham B-

a. 3ifecar

b. I

C. STHAT

d. urels

123. thg; TIPR of AT R HI TH7T TAST & [T ST &
HIeTd TCelH Tl T E3NT i 8-

a. SITTU ST

b. AT

c. ATfeH AT

d. [T AT

124. TS fehehe 3hTeel # fohehe o 9@ & I H fodd
e

a. Ga et

b. drded er&HuT

C.Tlgﬂaﬁg

d. 3fferel el

125. TorE o & AT 37197 hY Ggel TR AT elehich 3
gUH ¥IF YT fear—

a. AgNISE
b. AETEAT
C. Felcah
d. dfAeleTg

126. 9IT ! J&TdT &t & [oIT 819 37T B9 3% (HO HO)
HAT [ FTeT ATAT ST T TG G Hiet A o-

a. H{aS

b. SIeTeRrdT

C. geTeTE

d. el

127. fohT SR & AARTSERT e s afAfa s aeeg &
&9 H AT I

a. sig &4

b. Fg &=T

G- ol 3ETeAT

d.giexrags

128. AHST] ST 3N GISToT TRATSTAT Toh e 78T H §aF TET
€

a. oI

b. aheTady

c. Al

d. HETEY




129.India’s first zero budget forming state-
a. Karnataka

b. Maharashtra

c. Andra Pradesh

d. Telangana

130. Which asian country has withdrawn from
international criminal court-

Vietham

Indonesia

Thailand

Phillipines

oo oo

131. According to economic survey 2018-19, which
of the following is key driver for economic
growth-

Consumption
Saving

Private investment
Public expenditure

cooe

132. National Adoption fund on climate change
launched on which year-

2014

2015

2015

2017

oo o

133.“Nudge policy” is recently in news related to-
a. Welfare economics

b. Growth economics

c. Behavioural economics

d. International economics

134.“A Prime Minister to remember” book written
by-

Sushil kumar

Vikram singh

Vipin Rawat

B.S Dhanoa

o0 o

135. Recently “Plan bee” project was initiative to
protect wild life animals from railway track.
which of the following animal is protected-

a. Wild boar
b. Rhino
c. Tiger
d. Elephant

136. Which state is planning to launch an app to
track individual carbon footprint-

Delhi

Maharashtra

Telangana

West Bengal

o0 oW
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129. HRA & Ugell T fora SfR1 qoie AgRa wifdfT
HI AT B

a. daAlcdh

b. HERTSE

c. 3Ty geer

d. dereTeT

130. ShisT AT TIAATS 22T RIS TR AT T &
qrex} e Tar 2—

a. Aades

FESCIRE

c. UrSels

d. fpeidi

131. 37T FF&TOT 2018-19 & AR, foie=T & F ahleT 3R

Taehrer o forT HgeaqoT =mereh 8-
a. SUHIT

b. 9ad

c. fasi faaer

d. EHRY I

132. STerary IRacte T ISET g AT foher af &
-

a. 2014

b. 2015

c. 2015

d. 2017

133. AR ® <& 9o Afa fead defoa 2
a. HeITUTRRT ITIARTT

b. faerT &7 372

C. SIIER TFATEH

d. RIS 3IAET

134. T wrsH fAfATeR g RAFR" geas e gan feredr
TS E?

a. ger $AR

b. fasher fig

c. fafs Traa

d. s.og. =13

135. gTeT &1 7 "t " aRATSTT a7 SiaeT SITeAary i
I ¢ O 9T & folv ggo Y| eaAfaf@a & sl ar
ST TR 8-

a. STaTell TN

b. TEaT

C. 8l

d.gradr

136. PiT AT A SATFAIT HISeT UG UgeT I ¢oh Hlel h
oI Teh VT il et T ATST=T 91T T&T &-

a. feoelr

b. FAGRTSE

C. JdereTTaT

d. gfRas Samer
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137. The world first Camel Hospital is located in

cooe

which city-
Tehran
Jaipur
Dubai
Bekaner

138. UMMID initiative, which is in news recently, is

o0 oo

139.

oo oo

140.

o0 o

associated to tackle which cause-
Old age related problem

Genetic Disease of new born babies
Water borne Disease

Pollution related Disease

Which Indian sport person has been named
ambassador for PM Modi’s Bharat Ki Laxmi
initiative-

Saina Nehwal

Mary Kom

P.V Sindhu

Mithali Raj

The Gandhi Solar Park has recently inaugurated
at head quarter of which international
organization-

IMF

European Union

United Nations

WHO

141.

cooe

142.

oo o

143.

oo oo

144,

oo o

According to Census 2011 which district of uttar
Pradesh has the lowes sex ratio-

Ghaziabad

Gautam Buddha nagar

Meerut

Baghapat

Which of the following pairs of Iceland is
separated from each other by the *10:degree
channel’-

Andaman and Nicobar

Nicobar and Sumatra

Maldives and Lakshadweep

Sumatra and Java

In Medieval india the designation of ‘Mahattra’
and ‘pattakila’ were used for-

Military-officer

Village headman

Specialist Vedic rituals

Chief of craft guilds.

With reference to the cultural history of india,
the term panchayatan refers to —

An assembly to village elders

A religious sect

A style of temple construction

An administrative functionary.
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137. 1T 1 UEell He 3ETdTel fohe Qg & T &-
a. dgdeT
b. ST

c.gus

d. oM

138. UMMID U&dl, St gTe &1 7 Tkl # 8, fpad 51 8-
a. JeI¥ ¥ Fafad THEdm

b. TarSiTeT RIS & JTeTafRIeh a1

C. STeTStfele 9T

d. JGOT § Heferd ARy

139. T HRAT verefie & drueT AT T IR Fr o+ T ugel
F T 9Ts gy ATfad fohar = g-

a. |Tg=T Agarel

b. # Fra

c. drdr. &y

d. fAdrelr I

140. et IR ITeh T 3GHTC TeT &1 H Tl HAITSET
W?%@Wﬁgm%?

a. AT HeT HIY

b. Ty &g

C. HYF TT

d. WHO

141, STTITOTAT 2011 & AR YA & fpar Sfetde; el
ICRICGEIGACES S

a. AferATeTg

b. IMTH getr IR

c. #A%%

d. 9rrua

142. g1t & fArfaf@d e & & i a1 '10 Bl Ja1er
"SR Teh QAN & 3T FohaT a1 B-

a. 31vsHA 3R FReR

b. fehIaR 3R g&ATT

c. ATeIEIT 3R wefed

d. AT 3R Sirar

143. FETHTolT AT & Heca}' 3R 'gefhar & geare 1
g fohaT IT AT-

a. o AP

b. I TYUTT

c. TRt dfeeh 3ieTsaret

d. RIeq fires & gq@|

144, 9T o FiEH s STerd & Hesh #, TarIce areg
Seold g -

a. 31a & oAt & forw weh |

b. Ts e1fdie v

c. Afex AT Hr v el

d. T gmdfas TR
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145.

oo o

146.

oo o

147.

oo

148.

Which one of the following pairs does not form
part of the six system of Indian philosophy-
Mimamsa and Vedanta

Nyaya and vaisheshika

Lokayata and kapalika

Sankhya and yoga

Turkey is located between —

Black sea and Caspian sea

Black sea and Mediterranean sea
Gulf of suez and Mediterranean sea
Gulf of Agaba and Dead sea

In the constitution of india, promotion of
international peace and security is included in
the-

Preamble to the constitution.

Directive principles of state policy
Fundamental Duties

Fundamental right

If the interest rate is decreased in an economy ,
it will —

Decrease the consumption expenditure in the
economy

Increase the tax collection of the government
Increase the investment expenditure in.the
economy

Increase the total saving in the economy

149. The power of the supreme court of india to

o0 ow

decide dispute between centre and the state falls
under its —

Advisory jurisdiction

Appellate jurisdiction

Original jurisdiction

Writ jurisdiction

150. 24" Chief of Indian Navy —

a

b,
C.
d.

Admiral Karambir Singh
Admiral Sunil Lamba
Admiral Vimal Verma
Admiral B.S Dhanoa
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145, TAFATTET # & PleT AT SNST ARCAT e T B T0TTeir
o1 TEEaT 781 8-

a. #rerar 3R agia

b. =T 3R AT

c. drhrad 3R surferer

d. g 3R e

146. Jehf forarsd o Eua & -
a. FIel PR 3R HRTIT AR
b. STl AR 3N ALY AR
c. @9 H g AR AT PR
d. 37hTaT T WIS AR FI TR

147. R o HiALTeT H, RTSERT T 3R G&T 1 Ferar
&t enfAe g-

a. gfaene 61 y&dra=r|

b. T3 sfifd & faders Rgura

c. Aifos waeT

d. #Aiferes FFER

148. Ife frdY TcTqEaqT A AT T FHA T AT 8, AN T8
g -

a. JAIITYT H WUT T & FHaT

b. TR & T HIE H Ja o

c. 3degarar A A sma ¥ gfg

d. srferaear A el g A g

149. g 3R =T & 7 faarg 1 0T e arelt TR &
Hafa 31eTerd T ATFd 3Hh 7T 3T & -

a. HTghR SRR

b. 3rder =1 &3

C. H TSR

d. AVFR &1

150. SR AR & 24 F 97T -
a. UsTATe AR g

b. TsfATer Gefrer efiaT

c. TSTAel fa#er aAT

d. TSR s1.ud. a3
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